BEDIENUNGS-

Seite 15

65710

von 17

ANLEITUNG

Explosionszeichnung




65710

BEDIENUNGS-
ANLEITUNG

Seite 16
von 17

Ersatzteilliste

Nr. Beschreibung

Linker Schutzarm

Anzahl ‘

Nr. Beschreibung

40

Oberer Hydraulikschlauch

Anzahl

(BN

Schraube 8.8 M10x30

41

Anschlussstiick

Unterlegscheibe 10

42

Schraube M12x120

Schnellarretierung

N[O [N~

43

Griff Bedienhebel

Selbstsichernde Mutter M10

[EEN
w

44

Flachmutter M12

Kette Stammheber @6

45

Bedienarm links

Spaltklinge

46

Rickholfeder

Schraube 8.8 M12x65

47

Zylindrischer Pin 8x60

I [(NO NP |WIN|F

Gleitwangen

48

Schraube M8x12

Ablenkplatte

49

Vordere Verstarkung

Linke Platte

50

Schraube M8x25

Selbstsichernde Mutter M12

51

Hintere Verstarkung

GrolRe Unterlegscheibe 12

52

Flache Unterlegscheibe 8

Zylindrischer Pin 8x40

53

Griff Transportstange

U-Griff

54

Blindstopfen viereckig

Rechte Platte

55

Transportstange

Mutter M12

56

Verbindungsplatte Ventil

Bolzen

57

Steuerventil

Radkappe 12

58

Verbindungsstiick Schlauch

Stammbheber

59

Schlauch Einlass

Hubzylinder

60

Schraube 8.8 M8x50

Feder

61

Federscheibe 8

Mutter M8

62

Olschlauch 19

Schraube 8.8 M8x30

63

Schlauchschelle 28-36

Schraube 8.8 M8x80

64

Schlauchverbinder

Oltankverschluss

65

Rechter Bedienarm

O-Ring 25x2.65

66

Grol3e Unterlegscheibe 10

Olmessstab

67

Verbindungsplatte

Nylon Unterlegscheibe

68

Schraube 8.8 M8x40

Schaft

69

Zylindrischer Pin 6x40

Verlangerte Fixierkralle

70

Einstellstange

Mutter M8

71

Distanzhilse

Fixierkralle

72

Splint 2.5

Selbstsichernde Mutter M8

73

GrolSe Unterlegscheibe 10

GroRe Unterlegscheibe 8

74

Sternknauf

Fligelschraube M8x25

75

Einstellschlitten

Schraube M8x20

76

Schraube M4x60

Unterer Hydraulikschlauch

RwWwrlo|dlrRIWR|R|IR|IRPR|IRPR|IR|IRIVOV|R[R[RIVNR|O|R|R|IR|IW|D|R|IN|D|O|R |~

77

Starkstromanschluss

Kombinierte Unterlegscheibe 20

=
o

78

Selbstsichernde Mutter M4

N[RN[R [R[R[R|INR|IN|R|RIN|R|RIN|R[BN[R(NR[R[RRINVWR|IN|R|D|R|R|R|INMIN(N(S




BEDIENUNGS- :
65710 Seite 17

ANLEITUNG von 17

Nr. Beschreibung Anzahl
79

[EEN

80

81

82

83

84

85

86

87

88

89

90

91

92

93

94

95

96

97

98

99

100

101

102

103

104

105

106

107

108

109

110

111

112

113

114

115

116

N[ wlkRr(Rr|IdRP|IRP[RIMIP|IRPIRP|IRPIPIPIRPIRP|IRRP|R[RP|IR[DIDRP|IRPIRPRININ|RINIDINMNININ(R R~

117




